PROBLEML: (20 points)

The piece of'rubber ABCD is originally square. After deformation its shape is defined by the polygor
line AB’C’D.

Determine the average shear strain y, at point A.

Determine the average normal strain along the diagonals AC and BD.




Showing your points and construction on graphs and the assoc
quantities

1. Proportional Limit, PR wrtet o




PROBLEM3: (25 points)

A compresswe load P is trans:mtted through a rigid plate to three magnesium-alloy bars that are identic
: sposed abo > bar, except that initially the middle bar is sh short
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